CBOUCTBO YrnoB MNpu 0CHOBaHUN
paBHODEOPEHHOIo TPEYrosibHMKa







AB = AC

P=17,5
=)

BC=?




[IpakTn4yeckaa paboTta

11
8
{4
=4
2p
1

30

Henailime mak:

C nomoLbto
TpaHcnopTupa
N3MepbTE Yrbl
TPeyronbHuKa,
N300pakeHHoro Ha
KapTouKe.

Coenaunte 3anucb
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3aKoH4unTE
npegnoxeHue: «B

paBHOOEeOPEHHOM
TPEYrosibHUKE Yrrbl

Nnonv OCHOBAHM ... ».



[1lokazaTenbCTBO TEOPEMDI
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[NaHo: AABC paBHOOeOpEHHbIN;
BC — ocHoBaHue.
[lokasatb: » B> C.
[1okasaTenbCcTBO.
[Tyctb AD — buccektpuca AABC.
AABD = AACD no nepsomy
MPU3HaKYy. ll

/B=/C.



YCTHbIE 3aaa4u

Haungute rpagycHyto mepy
ABD A




JlomairHee 3agaHue: .13,
Nells, ctp 37
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